
Installation Instructions

B

WARNING
1.Tighten screws firmly, but do not over tighten. Over tightening can damage the screws, 
greatly reducing their holding power.
2.Make sure that mounting screws are anchored into the center of the studs. Use of 
“edge to edge” stud finder is highly recommended.

Diameter=10mm
Depth=50mm

  8.5x18x1.  

A B

C D

E F

G

I

H
Bubble level

Screw M5×45

4

1

4

  Anchor 10×48

Lag screw St6×48

Screw M6×20

Screw M4×20 4

4

4A

B

C

D

H

F

PART DESCRIPTION QUANTITY

  

23.5mm25kgs200×200mm14"-42"
  

00 Washer

Put the bubble level(H) on the top central edge of 
the back board(L), make sure the back plate is in 
good horizontal line. And fix the back board to the
wall by lag screw(A) and the washer(F) as above 
figure.

4E   6.5x18x1.0 Washer

4G   8.5x17x10 Spacer

2I

Use the tape to determine the proper location to drill
holes for the back plate. Drill the determined holes on
the wall, then put the anchor(B) in the holes.

C/D

E

K

G

IL

HA
F

Put the both TV hooks with TV screen onto the mount 
plate,then lock the TV bracket by tightening screw(I).  

ITEM NO.: JS-001

Place TV bracket(K), flat side down, on the back of 
the TV. Place Spacers (G) and Washers(E) between 
the TV back and the TV bracket. Attach TV bracket 
to TV by using either screws (C or D depending on 
TV brand).

MANUAL DE INSTALACIÓN

PARTE                      DESCRIPCIÓN                      CANTIDAD

Tornillo St 6x48
Ancla 10x48

Tornillo M4x20

Tornillo M6x20

6.5x18x1.0 Arandela

8.5x18x1.0 Arandela

8.5x17x1.0 Separador

Nivelador
Tornillo M5x45

ADVERTENCIA:
1. Ajuste los tornillos firmemente, pero no los ajuste de más, ya que esto puede dañar
los tornillos, reduciendo su poder de agarre.
2. Asegúrese de que no haya caños en el lugar donde va a perforar.
Se recomienda el uso de un detector de montantes. 

Use una cinta para determinar la ubicación
adecuada para hacer los agujeros en la pared.
Agujeree la pared en las marcas, colocando el
ancla (B) en los agujeros. 

Coloque la traba de la TV, el lado plano hacia abajo,
detrás de la TV. Coloque los separadores (G) y
las arandelas (E) entre la TV y las trabas de la TV.
Una la traba de la TV a la TV usando los tornillos
(C o D dependiendo de la marca de TV) 

Coloque la niveladora (H) en la ranura en en centro
de la parte trasera del panel (L), y presione hasta
que quede completamente insertada. Asegúrese de
que el panel quede en una línea horizontal. Fije a
la pared usando el tornillo (A) y la arandela (F)
como se muesrtra en la figura.

Coloque ambos ganchos de TV y la pantalla en el
soporte, luego trabe los soportes de la TV ajustando
los tornillos (I).

Diámetro: 10mm
Profundidad: 50mm 




